Classwork 3, MATH 1113 Harrison Chapman Name & Time: t<0/%/
1. To find the slope of a line in general form, first solve for y; the slope is then the coefficient of x. Find the
slope of the line 7x + 3y + 10 = 0.
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2. Two lines are parallel if their slopes are the same, or perpendicular if their slopes are opposite-reciprocal.
For the pair of lines below, first i) find the slopes of the lines and then ii) use this information to answer
whether the lines are parallel or perpendicular.

3x 45y +4=0and bx — 3y — 8 =0.
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3. Use point-slope form to write the equation of a line containing the point (2, —5) with slope m = i

Y- (5) = x-2)



4. Find the slope of a line containing the points (—1,4) and (5, 3). Then use the point-slope form to write

an equation of the line. = =
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6. Five years ago a house was worth $230,000. Now the house is worth $335,000. Assume a linear rela-
tionship between time { (measured in years) and value V (measured in dollars).

a) Find a formula for the value, V, at time ¢, if f = 0 is now.
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b) What will be the value of the house 3 years from now?
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